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= 12,000
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Odt=A &3] 5,000
202 OdHl 16,000 15,000 1,000
01 =UWdobl 16,000 15,000 1,000
OMZNLRE S P2 16,000
SMEYX XA 2,262,865 2,057,512 205,353
= 1,329,943
& 932,922
201 LEH23H] 4,000 4,000 0
2 1,200
= 2,800
01 AtR2teld 4,000 4,000 0
OMEIZRL 28= 7Y 4,000
= 1,200
< 2,800
308 NXIHHMSOIE 1,846,388 1,678,533 167,855
= 1,086,110
= 760,278
01 XXSHHBILAEXES 1,846,388 1,678,533 167,855
OLt=2 X 402,263,000 *9Z +51% 1,846,388
= 1,086,110
= 760,278
403 XXM SX20IA 412,477 374,979 37,498
= 242,633
= 169,844
01 XXIESHI=2EX 412,477 374,979 37,498
Odt=2 &R 67,398,200& 125 +51% 412,477
= 242,633
= 169,844
st S2 A KR 1,190,506 817,202 373,304
= 926,248
= 264,258
206 = Hl 43,480 132,714 A89,234
= 43,480
01 MZHl 43,480 132,714 A89,234
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AHEHEGE A 10,870,000 x4 & 43,480
= 43,480
=5 ESV RS 1,147,026 684,488 462,538
= 832,768
= 264,258
HHIAEEZ 1,147,026 684,488 462,538
Hols 2H 661,305
= 509, 136
= 152,169
gQolis olE - 2R XA 485,721
= 373,632
[ 112,089
SHSALY 1,895,462 2,259,550 A364,088
= 1,679,523
= 215,939
IS E0IH 1,895,462 2,259,550 A 364,088
= 1,679,523
< 215,939
XIHHEAEXZ 1,895,462 2,259,550 A364,088
HESHAY 2,399,318,000& *79% 1,895,462
= 1,679,523
< 215,939
X& 4,671,188 5,450, 187 AT78,999
[as 4,395,000
= 276,188
2Bt A 10,000 11,250 A 1,250
s 8,000
[ 2,000
AtS 2tel ] 10,000 11,250 A 1,250
Elgtd Zotle =Y
125,000& #4201 x102 23] 10,000
P 8,000
< 2,000
NS SA=0lH 4,661,188 5,438,937 NTTT,749
s 4,387,000
= 274,188
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01 XXSHA=2EX 4,661,188 5,438,937 NTT7,749
OY T AH 43,009,800& 127 . 5km*85% 4,661,188
g 4,387,000
o= 274,188
APEFALS X & 10,669,581 8,017,142 2,652,439
= 8,199,306
== 2,470,275
307 QIZt0IA 176,490 0 176,490
= 123,543
= 52,947
05 oIt 176,490 0 176,490
OEgd Eot 3,922,000& *45AH 176,490
= 123,543
& 52,947
403 XXISHMSKE0lH 10,493,091 8,017,142 2,475,949
= 8,075,763
= 2,417,328
01 XAXESXMASEE 10,493,091 8,017,142 2,475,949
OAEASE X 11,530,869, 000& *91% 10,493,091
= 8,075,763
= 2,417,328
Ar2RGHED| Xt 1,650,000 1,500,000 150,000
== 330,000
£ 1,320,000
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£ 1,320,000
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£ 1,320,000
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308 AHXIEHMSOIHA 270,000 252,000 18,000
01 XXNHHBIAEXZ 270,000 252,000 18,000
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SIS AAYNE X = 97,740
= 29,302

308 XHXISHHISOIH 127,062 127,062 0
= 97,740
S 29,322

01 RASHMBARES 127,062 127,062 0
SNEEESTEREE 10,8002 * 18, 100ha*65% 127,062
2 97,740
= 29,302

ZYUEISYL N 2,762,412 2,090,400 672,012
2 2,762,412

401 AlSHIL =0 2,762,412 2,090,400 672,012
= 2,762,412

03 Al&=0H| 10,400 10,400 0
oYUM U +ZXE 10,400
2 10,400

04 SHAFEHRIAILY] 2,752,012 2,080,000 672,012
OZ2UB RIMM 2,752,012
2 2,752,012

ZEYAY K& 9,721,043 5,797, 189 3,923,854
= 7,896,545
= 1,824,498

201 L2yl 4,000 4,000 0

01 At 2tel| 4,000 4,000 0
OA=Y U £IHRI| A S| 4,000

202 O4Hl 10,000 5,000 5,000
=2 10,000

01 =Uhorb| 10,000 5,000 5,000
OMBEXFEA LEXMHF 2 Ot 10,000
2 10,000

403 KRGS K01 9,707,043 5,788, 189 3,918,854
=2 7,886,545
= 1,820,498

01 XXICSHRZEE 9,707,043 5,788, 189 3,918,854
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SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OXEA 9,707,043
= 7,886,545
= 1,820,498
QMDY K& 174,000 106,432 67,568
= 132,000
& 42,000
403 AXIEHXHSKH201H 174,000 106,432 67,568
=2 132,000
= 42,000
01 XXSHHA2EX 174,000 106,432 67,568
OE=M4aDIBES 174,000
= 132,000
< 42,000
= RIOIAE K& 19,473,059 19,104,748 368,311
= 16,075,252
& 3,397,807
201 Lt 5,000 5,000 0
= 2,500
= 2,500
01 At 2eld] 5,000 5,000 0
O£ I B2 10,0002 *501 x5 %23 5,000
= 2,500
= 2,500
403 XXM ESX201H 19,468,059 19,099,748 368,311
= 16,072,752
& 3,395,307
01 XXSHHMIA2EE 19,468,059 19,099,748 368,311
O=ItFIIAE 14,787,284
= 11,925,229
< 2,862,055
O3 34t I3 0| 3,119,238
= 2,763,882
== 355,356
Ottolet= =& &t 1,561,537
= 1,383,641
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2T0IZIE X 1,285,719 357,300 928,419
=2 1,068,225
= 217,494
403 THXISHSXHZO0IR 1,285,719 357,300 928,419
= 1,068,225
= 217,494
01 KXSHHAERE 1,285,719 357,300 928,419
os=zAeEYY XY
1,500, 000! %6550 x62% 609, 150
2 491,250
= 117,900
OSSR ALK 450,0002+800ha*76% 273,600
2 252,000
= 21,600
OmEA X 4,333, 00021 *150CH *62% 402,969
2 324,975
= 77,994
MRS YA BIEY 2,693,459 4,456,379 A1,762,920
= 2,178,240
= 515,219
201 Ygreg| 6,750 0 6,750
01 AFR2elt] 6,750 0 6,750
Ottglatel SAIBolR &M ag
12,5002 #1521 %43 6,750
403 THXISHSXHZO0IR 2,686,709 4,456,379 ~1,769,670
= 2,178,240
= 508,469
01 KXSHHIERE 2,686,709 4,456,379 A1,769,670
OEDTHHHAIL 294,060
2 226,200
= 67,860
OE DS Hi X HIEf 130,000
2 100,000
= 30,000
O R A2 AL 5,000, 0002 *250km+26% 325,000
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SN - BE - GR(SH) - MBAY - BES 0 & o4 i
= 250,000
= 75,000
O E LA 282, 0002 +781ha*86% 189,409
2 176, 194
= 13,215
ogLzsue 233,800
2 179,846
= 53,954
OHBHYYMTIR 10,000, 000! *60ha*26% 156,000
2 20,000
= 36,000
ORI ZHIX & 12,000, 00021 *20CH *26% 62,400
= 48,000
= 14,400
O FY X & 807,500, 000 x26% 209,950
2 161,500
= 48,450
OLHHES TET
7,000, 0002 *200ha*46% 644,000
= 560,000
= 84,000
OU% 55,822 MAX S
40,000, 00021 %241 x26% 20,800
= 16,000
= 4,800
OYASML0I24RK X2 50,000, 0002 %65% 32,500
2 25,000
= 7,500
ONE=EAY X 867,000, 000 *26% 225,420
2 173,400
= 52,020
ORaS ELNY 4,750,002 * 12ha*86% 49,020
2 45,600
= 3,420
OXY4 BIAL 33,600
2 30,000
= 3,600
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OBEZXNELIN 80,750
= 66,500
= 14,250
RS K 4,529,520 3,818,901 710,619
= 3,394,720
= 1,134,800
403 XXIEHMS K201 4,529,520 3,818,901 710,619
= 3,394,720
= 1,134,800
01 XXIEHX2EX 4,529,520 3,818,901 710,619
OdatEs MEAHL 1,460,250
= 973,500
< 486,750
OYMESHEAZESHAA 559,470
= 372,980
= 186,490
OZZCIXINS XI& 99,000
2 66,000
= 33,000
OYME HFLUSS CITQINL 96,960
= 77,568
= 9,392
OYate AZLUMC HELIIAL 90,840
= 72,672
< 18,168
OYMNSIHBIY N 23,000
= 82,000
= 41,000
OUMNSMBEHRSHE AL X2 2,100,000
= 1,750,000
= 350,000
MEXEFE2IEH XA 137,600 149,940 212,340
= 81,000
& 56,600
403 XXISMS K201 137,600 149,940 A 12,340
2 81,000
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403 XXM SX20IH = 56,600
01 XXSHHA2EX 137,600 149,940 A 12,340
Q&g el 38 2 EHIXI&A
8,600,000 =160 2 137,600
= 81,000
< 56,600
SHEaNEE 570,000 1,500,000 930,000
s 380,000
& 190,000
403 KX SKH201H 570,000 1,500,000 A930,000
s 380,000
= 190,000
01 XXSHHIA2EX 570,000 1,500,000 A930,000
O=sMHeEsNEE 760,000,000 *75% 570,000
s 380,000
= 190,000
2AYHoIYR= =4 K& 755,200 500,000 255,200
307 9I2H0| & 40,000 0 40,000
02 BlZtFAE=X 40,000 0 40,000
O=d= AH2S MEHAM 40,000
403 XXIEHMS K201 715,200 500,000 215,200
01 XXSHHMA2EE 715,200 500,000 215,200
OUHHIOIL YAE X4
149,000,000 x 16 Al =2 *30% 715,200
+=SAMSIIEAIE K& 144,000 144,000 0
s 110,000
= 34,000
403 XTXIEMESX201H 144,000 144,000 0
s 110,000
= 34,000
01 XXSHXMA2EE 144,000 144,000 0
OASEEI|BAIE XA 144,000
s 110,000
o= 34,000
FTACHH| @22 SLXJ 463,592 680,000 AN216,408
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403 RASHERZ0IH 463,502 680,000 ~216,408
01 RXESHK=LSE 463,592 680,000 216,408
Ot | 3,000,000 +217} 2 3CH +40% 75,600
OLESH 282, 0002 *390ha*40% 43,992
OYMS T &AL 1,200, 0002 %500 *20% 20,000
OEDHA ZREYY X
9,0002!*10, 0000 *40% 36,000
Osagas AT 3,000, 0002 *40hax40% 48,000
Ograsty &3 5,000, 0002 *45hax40% 90,000
OELTThiB] 2,500,000 *50CH *40% 50,000
NEEY - =XHE 21,074,589 8,610,304 2,464,195
2 1,452,014
2 11,694,000
= 198,705
= 7,729,870
AEMEIDIS XS X 3,609,655 3,048,707 560,948
2 97,605
2 2,914,000
= 598,050
201 Ysr2gy) 3,000 3,000 0
IR 3,000 3,000 0
OX2SE BHAEE 10,0002 5501432 +23] 3,000
308 XHXIEHH SOIH 110, 155 77,781 3,374
2 97,605
= 12,550
01 RXESHZALES 110, 155 77,781 32,374
OMEMEIDIS 2YXH
13,943, 6002 #1021 +79% 110, 155
2 97,605
= 2,550
403 RXISHSRZOIR 3,496,500 2,967,926 528,574
2 2,914,000
= 582,500
01 MRS =L E 3,496,500 2,967,926 528,574
OAFE & 90,500,000 *30+ 2 271,500
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ras 258,000
o= 13,500
ox4d 358,333,300& x90I =2 3,225,000
g 2,656,000
== 569,000
MEl= =4 X 292,500 325,000 A 32,500
g 225,000
= 67,500
403 XXESHHSA=20lN 292,500 325,000 A 32,500
P 225,000
== 67,500
01 XAXESXMA2SEEX 292,500 325,000 A 32,500
Oditl= =4 450,000, 000& *1JH 2~ *65% 292,500
g 225,000
= 67,500
==2JXH A& 3,808,026 858,555 2,949,471
= 108,026
iy 3,700,000
308 XAXIEHXMSOIA 108,026 108,555 A529
= 108,026
01 XXNHHBIAZXZ 108,026 108,555 Ab29
Ox==dI2A0/UI0IH 24 X3
14,029, 300& 1121 x70% 108,026
= 108,026
403 XXM SKE01H 3,700,000 750,000 2,950,000
g 3,700,000
01 XXSHA=2EX 3,700,000 750,000 2,950,000
Outeer2a HE 4,000,000, 000*50% 2,000,000
s 2,000,000
OF==2/AXLH(BSH) 3,400,000, 000& *50% 1,700,000
g 1,700,000
Aosoe ZHXE 1,333,069 2,814,198 AN 1,481,129
= 118,182
g 800,000
o= 414,887
308 AXISHHMSOIHA 133,069 234,198 A 101,129
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308 AHXISH XSO0l = 118,182
& 14,887
01 XXSHHBILAEXS 133,069 234,198 A 101,129
Os«¢d IAdulold 13,996,830 & *421+79% 44,230
2 39,282
< 4,948
=oll &It 14,056,800& »821x79% 88,839
2 78,900
= 9,939
403 AXIEHXHSAH201H 1,200,000 2,580,000 A 1,380,000
s 800,000
= 400,000
01 XXSHHA2LEX 1,200,000 2,580,000 A 1,380,000
ONAsAe T4 ()
1,600,000, 000& *75% 1,200,000
sy 800,000
= 400,000
SAN=ZH KA 6,242,210 5,539,950 702,260
=2 286,641
s 4,055,000
= 1,900,569
308 AtXIHHMSOI& 284,210 248,450 35,760
= 236,641
& 47,569
01 XXSHHBILAEES 284,210 248,450 35,760
OEA=sAE 22l 23
13,943,000 *14 21 «79% 154,210
= 136,641
& 17,569
OEAISAEH A 25,000,000 *8IH 2~ +65% 130,000
= 100,000
& 30,000
403 XXM EX20IH 5,958,000 5,291,500 666,500
= 50,000
s 4,055,000
= 1,853,000
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01 ASHAES 5,958,000 5,291,500 666,500
OEAN==4d XA 5,893,000
“EAE E4 384,615, 3802 *13ha65% 3,250,000
s 2,500,000
= 750,000
-t2s =4 47,544,520 *109km*51% 2,643,000
s 1,555,000
= 1,088,000
ONZ4+MSHY X4
100,000,000 *1JH 2 *65% 65,000
= 50,000
< 15,000
sSHt s Mg 2a B8 1,165,524 1,247,704 A 82,180
= 591,560
& 573,964
207 S OHEH 100,000 0 100,000
02 Fafey] 100,000 0 100,000
O=d 100044t HAOIE = 100,000
308 AHXIHHMSOIH 258,740 255,994 2,746
= 224,840
= 33,900
01 XXEHHILEXS 258,740 255,994 2,746
O=LEAR X 14,600,002 +2201 +79% 253,748
= 224,840
= 28,908
OREzdzARY X
26,0003 *6402! *30% 4,992
403 XHXISHSHEOIE 806, 784 991,710 184,926
= 366,720
= 440,064
01 AXSHX=2E X 806,784 991,710 A 184,926
OZAMER SHRFHY)
30,560, 0003 *40km*51% 623,424
2 366,720
< 256,704
Oge S&=2 F| 30,560,000 *20km*30% 183,360
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EXNJABH 2 325,000 381,000 A56,000
= 250,000
= 75,000
403 KXISHSKH20|H 325,000 375,000 50,000
= 250,000
= 75,000
01 AXSHMAEEX 325,000 375,000 A50,000
OO0IEC2 1001 A U2 = JIRIIAFY
50,000, 000& * 1070 2~ *65% 325,000
= 250,000
< 75,000
254 bl N 198,705 112,980 85,725
= 198,705
308 XXIEHHMSOIA 198,705 112,980 85,725
= 198,705
01 AXSHMIMNEEXZ 198,705 112,980 85,725
OE2s F| 198,705
=2 198,705
delsy S:s A 4,099,900 4,282,300 A 182,400
201 B2 H| 3,000 3,000 0
01 At22teldl 3,000 3,000 0
OSJSAIE X8I =4
100, 000& *521 x6 2 x 13| 3,000
308 XXIEHHMSOIA 5,760 4,800 960
01 AXSHMIMEEXZ 5,760 4,800 960
ORIFI2EX &3& 24t 5,760
403 ANXIESHXHSAH20IH 4,091, 140 4,274,500 A 183,360
01 XXSHIH2EX 4,001, 140 4,274,500 A 183,360
Og &= At
100,000, 000-& *45IH 2~ *30% 1,350,000
OGreen= Parkx & 2,000,000
O¥Eilzs =4 741,140
HYSHHH (M=KD 83,500 83,500 0
29| 4,200 4,200 0
223 4,200 4,200 0
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